Terminals for Water-Cooled Jumpers (WCJ)

"CB4"

172, VB and 34" NPT
Metric Threads also Available

(Please Specify)

"CB-5"

14"NPT

"CB-§"

"cB-T"
14"NPT

B=Thickness B=Thickness
350-400MCM 450-1000MCM
9/16” Thick 5/8" Thick

CAL WCJ TERMINAL DATA

Terminals Furnished as Shown

UNLESS changes are specifiad.

McM SIZE [TERMINAL Dia| O ER HOSE
150-300MCM 1.00" 1-3/8"
350-400MCM 1-178" 1-6/8"
450-600MCM 1-174 1-3/4”
850-750MCM 1-4/2" 2
1000MCM 1-4/2" 2
1200MCM 1-1316" 2.3/8"




Terminals for Water-Cooled Jumpers (WCJ)

A= B= | C=

350-400MCM
450-800MCM

1-5148" | 112" _| 96" |
1.716" | 172+ | 58"

750-1000MCM

14/2" | 916" | sia”

"CDB"

o=
350-600MCM |9/16" Back
750-1000MCM | 5/8" Back

"CB-2"

350-400MCM
450-1000MCM

211116~
318"

"CB-g"

/4= NPT

iraz=

1147 NPT

"CB-11"

|_250-600MCM)
760-1000MCM [3/15°

CAL Manufacturing makes many more
terminals than are shown here.

Terminals with tapers

Terminals with tapers and threads
Terminals with “0" rings
Terminals with snap rings

Upon request, we can make most any
terminal you may require for your spe-
cial needs.



Determining the MCM size required

To determine the required MCM rating, it is first necessary to
know: (1) the duty cycle, (2) current to be used and (3) length
of the cable to be used, measured bolt hole center to bolt hole
center.

Once this has been determined, proceed as follows: DUTY GYCLE JWLT‘PUER
1. Find the closest duty cycle shown on the | 100 % 1.00
multiplier chart to the left. Take your current level 90 % 95
and multiply it imes the multiplier shown. This g 2
will give you the continuous duty current of the 60 % k[
cable. 50 % T

___40% 6
2. Refer fo the chart below. Looking up from the | —au-ae- i
length of your required cable, find the angular 10 % 3
line closest to the confinuous current level you : ﬁ
just established. Then follow the angular line to % KT

the right for the

Water-Cooled Jumper Selection Chart
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